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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)      (02) 

          





       


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Section–A

–

Long Answ er Type Questions

 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. “The best use of public finance is that which secures

the maximum social advantage from the operations which

it conducts” (Dalton). Explain fully.

         

        



2. Discuss the exclusion principle and show why it is not

applicable to social goods ?




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3. Examine the growth of public expenditure based on

Wanger’s law.

    

 

4. What do you understand by shifting taxes ? Discuss

the various theories regarding the shifting of taxes.





5. Discuss in detail the price principle of Professor Delton

related to state services. To what extent is it possible to

adopt these principles ?

         

        



Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.
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 (08) 

(08)

(04) 

1. Bring out the nature of public finance.



2. Discuss the areas of market failure.



3. Briefly explain what effects public expenditure has

on the distribution.





4. What is the role of functional finance for poor

countries ?



5. Briefly explain any tw o principles of taxation given by

Adam Smith.

          



6. Briefly explain what effect taxation has on distribution.


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7. What is the importance of government Enterprise in the

economic sector ?



8. What is the utility of public enterprises ?



**************


